payement
NPAY int <pl>
NCOM date <fk1>
 INVEN int <fk2>
—— montant float
etat  bool
livraison - type int
FK_EST |NCOM date <plo [
T| adresse varchar(1024) -
||date  date fournisseur
| NE int <pk: coute
I nomfournisseur varchar(255) R = o
\ | fraintiviaison  float FK_COUTE ART int e
| prix  float
\ FK_PRIVILEGIE2  Fx_CHOISIR2
peiileolg choisir
NCOM int <pk.fl> NCOM int <plfki>
estlivre NE int <pkfk2> NE  int <pkfk2> FK_COUTE2
NCOM2 int  <pkifkl> E =2
NCOM date <pk.fk2> yd A
| FK_CLIENT_PAYE
| y article
| FK_PRIVILEGIE £y cholsiR NART int <pl>
FK_EST_LIVRE NCAT int <fk>
| / nom varchar(255)
description  varchar(1024) el
y _EST_VENDU3 e
| \ NVEN int <pkfki>
Y NART  int <pk.fk2>
s prix  float(8.2)
quantite int
NCOM int  <pie
date date \
direct tinyint FK_STOCK2
J) \ FK_EST_VENDU2
! FK_APPARTIENT
| \
| \ |
\ ventes
| \
| \ date  datetime
“ \ NVEN int <pk>
| tock i
| gl FK_ACHETE2
‘ int <pkfki> achete
| - int <pkfk2> secu int <pkfkl>
| categorie float(8,2) NVEN int <pkfk2>
| nomcat  varchar(255) nbint
description  varchar(1024)
| NCAT  int <pk> /
| /
| /
[ / FK_ACHETE
| /
FK_A_COMMANDE2 /
| /
| / y
| client
| secu int <pk,fk>|
| FK_STOCK date e
| type_departement / points float(8,2)
| /
NTD int <pk> / personne
“ nom_type varchar(50) / secu int <pk>
| ) / et —=inom varchar(255)
| / - prenom  varchar(255)
| / adresse varchar(1024)
| FK_EST_DE_TYPE / 4
| / /
y FK_EST2
| y
| departement
|
| NDEP  int <pl>
acommandé NTD int <fk1> 7
> ; employe
NDEP int <pkfki>| secu int <fk2> -l
NCOM int <pkfkes . FKACOMMANDE nom  varchar(1024)  [secu it <pkfke>
— I — adresse varchar(1024) R 9| NDEP int <fkl>
FK_DIRIGE2 — -
jour
. date date <pk>
FK_TRAVAILLE_A - e
- ~ FK_EST_A
FK_DIRIGE 7 4
FK_TRAVAILLE2~
N_VACANCE
/

etape
date  date <pl>
NDEP int <fk2>
secu int <fk1>
poste  varchar(255)
salaire float
heure ~float

est en vacance

=y

date date <plfki>
secu int  <pkfk2>
travaille
date  date <pkfki> )
it <pkfke> ~FK_TRAVAILLE
heures int —




